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Instructions

(1) All questions are compulsory,

(1)  Question Nos. 1 to § are objective type questions.

(iii) Internal options are given in Question Numbers 6 to 23,
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Choose the correct option and write it

() HCF of (91, 21) is

(a) 9] by
© 13 ) 12
(i} The pair of equation X+2y+5=0 and -3x-6yv+1=0 have solution -
(@ a unique solution (b) has no solution
(¢) infinitely many solution (d) two solution
(111)

The sum of the zeroes of the quadratic polynomial ax’ +bx+c will be -

@ & M Y
© -¥ @ -9

(iv) The discriminant of the quadratic equation x> —dx+4=0 is -

(@ 4 b 2
c) 0 (d). 1
(v) Number of tangents drawn at a point on the circle -
(@ 1 | ) 2
€ 3 d o

(vi) The distance between the point (O, 5) and (-5.0) is -

@@ 5 ® 542

© 245 (d)' 2
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(vii)ﬁﬂirﬁqﬂmquﬂ= o (3
Fill in the blanks :
(i) HCF b) x LCM (a, b) =
(i) In the equation x+y=8 if x=3 then y =
polynomial.

(iii) A polynomial of degree 3 is called a

T
.,

-
(iv) If a is the first term and 4 is common ({Iﬁerence then the nth term

will be
(v} Each square are .
(vi) A line intersecting a circle in two points is called

(vii) Formula of area of the circle of radius r is
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(1)  sec (90" -8)
() cos @
(i) sin(°

(iv) cosQ°

() Jl +tan- O

(i) y1-cos” @

Match the correct column :

!!g\l!
) sec(90°-8)

(ii) cos O
(i) sinQ°
(iv) cos0°

(v) Jl+tan?@

(vi) Y1-cos? 9
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(c)
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0

%cc 0

cosec 0
sin O
sec O

sec? )

!FI;H

%ec 0

cosec 0
sin ©
sec O

sec’ 3
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(ii) ﬂﬁmbaﬂtcwﬁmﬂmﬁt,aﬂraﬂ)mmm
59 w7 & W ?

(i) O B wiw w R |
(iv) I &g 8 fag (v.p) @ g Rt

(v) Walfus e amr o w®ar sraar &7

(vi) UF WEYg "N B Wiirmar F oA 7
iy P(E)+P(E) & am 71 gm0 ?

Write. the answer in one word/sentence of each :

(i) If a=bg then what is the relation between a and b ?
(it) Ifaq band c are. real numbers and g# () then the quadratic polynomial
is which form ?

(iii) Write the name of right angled triangle theorem,

(iv) Write the distance of | t;he point (x, ¥) from the origin.

(v) What is the class of maximum frequency is called ?

{vi) What will be the probability of an impossible event ?

(vii) What will be the value of P(E)+ P(E) 2
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O x~)=0 ¥ y w5 uym oot us k|
() R Al 10,7, 4. Wt 0wt g 178

1) W Bl o dmew st wme g b

(av) a@ B ATH :]trzh 3

M I T W S =-:-nr3 AT

(Vi) 3 Wit = wgee + 2 W |

Write True/False in the following :

®

(iii) Area of similar triangles are always equal.

(v) The volume of hemisphere is _-;‘ura’.

(iv) The volume of cone is nrzh.

(vi) 3 Median = Mode + 2 .Mean.
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Show that every positive even integer is of the form 2 ¢ and that ¢very positive

odd integer is of the form 2¢ + 1. where ¢ is some integer.

@ /| OR

e 6. 72 ol 120 &1 W s Ry g LOM T Ly
Find the L.C.M. of 6. 72 and 120 using the prime factorisation method.

feara g 6x"'—3¥7§ ¥ E® ¥ g |

Find the zeroes of the quadratic polynomial 6x= —3-7x.
sqr / OR
@meﬁmmsﬁﬁ%memn 1.1 &

polynomial. the sum and product of whose zeroes arc. b1

Find the quadratic
respectively.

%Wﬁﬁﬁa@?ﬂﬁdﬂd%ﬁﬂql

8 AP -§, -1, 3. 7.
write the first term ¢ and common difterence d

For the A.P. =5, ~1. 3. 7....
Jga /| OR

AP 21, 18, 15, ... @ @ @ W@ -8l % 7

Which term of the A.P. 21, 18, 15, ... is 81 ?
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OWing figures are similar or not.
S 1S em
R O RIS c
(A) 1S5cm
PSom  ang 3om com
P
LS em Q A B
Jcm
S 3 cm 2 cm
R D C
B) 2cm 5
cm
P and 2cm 2 cm
2 cm
d¥ar /| OR
A B g g :
ﬁﬂ:{i‘ _ma@ﬁwm?\%%uﬁﬁ)mmm w
i ) O TR o 3 (e ) )
Wci polygons of the same number of sides are similar if (1) their comesponding

angles are _ and (ii) ‘their corresponding sides are
(equal / proportional) ‘

38 g & Prioie o0 S, & RgE 1, 7) R @ 3) B Bew a®
(@TEs W 2:3 F U ¥ e @ ¥

2

Find the coordinates of the point which divides the line segment. joining the points

(-1, 7) and (4, -3} in the ratio 2: 3.
¥ [ OR

w

o fag AG. 1), BB, 2), CO, 4 31 D, 3) W TR agde & 9 @

9 F A, @ P @ UM T B |

If the points A(6, 1), B, 2), C(9. 4) and D(P. 3) are the vertices of a

paralielogram, taken in order, find'the value of P.
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I |
Find the area of a triangle ABC formed by the A(5. 2). B(4. 7) and C(7. ).

¥ya /| OR

Kﬂmmm.v&ﬁgA(2.3).B(4.K)amcm.—3)ﬁd"f '
Find the value of K if the points A(2. 3). B(4. K) and C(6. -3) are collinear.

12 3Rk Sin-4=§.a}cosA8ﬁTtanAmmwﬁ$ﬁﬁm|

; 3
If sin A=—, then find the value of cos A and tan A.

s | OR
mmmwcﬁﬁwmamﬂtuﬁmAﬂ,a\wﬁa

#forg f 2sin 4-cos A=1.
In a right angle triangle ABC. right angled at B, if tan A =1. then verify that

2sin A-cos A=1.
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A chord of a circle of radius 10 cm subtends a right angle at the centre.
Find the area of the corresponding minor segment. (m=3.14)

gar /| OR
Aroqr 21 0 9 39 & @ 9N F W 60° @ H J=d @ T,

99 @ @& 3d g |

In a circle of radius 21 cm an arc subtends an angle 60° at the centre.

Find the length of the arc.
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pefine impossible eveyy.
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Define elememmy event.

mm@ﬁ'ﬂészqﬁaﬁ@w@ﬁawﬂmmtm 2

T R By B o g A

li
One card is drawn from a well-shuffled deck of 52 cards. Calculate the probability
that the card will not be an ace.

s | OR
aft P(E)=0.06 ¥ @ ‘£ 7& @ wima &1 & 7

If P (E)=0-06, what is the probability of "not E" ?

eTETES ET0 whE 2x° +x-6=0 % I8 WA A | -3

Find the roots of the equation 2%% +x-6=0 by factorisation.

v /| OR
feaa glH _2x2—-3x+5=0 & A @ Wk A Sl |

Find the nature of roots of the quadratic equation 2x? ~3x+5=0,
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17 AP 3 R 13 IX,  ®w w9 wur R ¥ 7
Which term of the AP L R 11 IR 1 /R ?

amm [ OR

af fedt A % et ohy A yxr wuw 4 ot R KM ogEm Ao
W o[ oEm Y

It the 3™ and the 9™ orms of an AP are 4 and 8 respectively.

which term of this AP is zero ?

18 U B Y@ wH A ABC # gt 4B b ¢ B wEw D MK

7T ST FE T A BC % e @, @ Rig AR P %ﬁ%m

If a line intersects sides 4B and AC of a A ABC @t D and E respectively and is
O

lel to BC. th i B
parallel to en prove that —— B AC ~

~
-

(

dyar /| OR
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fog @ifiie f5 ot feh By &t @ g1 & @9 o= QA g &
fr-fr=r fagall ot ol 0 & fog oo @ Ei ST @ A o @ e

Il)

s & ogu § fewfra & wmr ¥ -

<

Prove that, if a line is drawn parallel to one si{i:é"of a triangle to intersect the

other two sides in distinct points, then the othertwo sides are divided in the

same ratio.
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Prove that ifm&a TR Xy T e ot SR, 3

the smaller ¢irer. f‘ck‘mric i ’.» _ ;

Cirele, i bisecy ﬁi}?\“‘::‘ ‘::::d (:.I the larger circle, which touches
"'&‘ Ol contact.

ﬂﬁ;aﬁﬁmﬁ;%% . R
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Prove thay |
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through the point of com:::( POt of a circle is perpendicular to the radius

Pt TRy
% [

3x + y=10 m 5 Fj ﬁ&-) iaih q ™ !ﬂlhq : 4
X PAE

Solve the following P T

3x + y

20

air of Ififear equations by the climination method :

=10 and 2x + 2y =13.

O s | OR
P st & qo

B iR ffr ¥ T dfw
Fep=3§ m? 2x-—3y=4

olve the following pair of I}Qear equations by the substitution method :
x+y=5 and 2x—3y=4\\(5’

21 4cm, Scm @ix 6 cm

-
o el g ws B @ e g el R

m@m?ﬂg«{_mﬂmmmﬂﬂwﬁ
- .
W 2 T

Construct a triangle of sides 4 cm, 5cm and 6 cm and then a triangle similar

. 2 N i
to 1t whose sides are '3' of the corresponding sides of the first triangle.
D

< ¥ | OR
whﬁﬁwme%@@ﬁgmﬁmmmwm
m B # A e S A

Construct a triangle similar to a given triangle ABC with its sides equal to

1 of the corresponding sides of the triangle ABC.
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(T=314 soim wy)

A. Juice seller was serving his customers using glasses as shown in fig. The inner
diameter of the Cylindrical glass was 5 cm but the bottom of the glass had a
hemisphetical raised portion which reduced the capacity of the glass. If the height of
a glass was 10 em, fing the apparent capacity of the glass and its actual capacity.

(Use T=3.14)

— >
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A cone of height 24 cm and radius of base 6 cm is made up of modelling

clay. A child reshapes it in the form of a sphere. Find radius of the sphere., oy
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ages of the w _ . . cote method
BES of the workers of the factory by using an approprate

ail J et e e e RPN S o e e T
DI e (n Rs.) [ 500-520 520 540 540 560 r;(;r} 5K0) rsxn 6O
Number of worl;a—;s 15 ” - - ___“m
SRR I
dya [ OR

R RW g 42 o R e At A A g g T R A
O 29 ¥ | Soga Ry g go R Rrsdl @ W W AT

kil 20-60 | 60-100 | 100-150( 150-250 250350 3504350
S 7 5 16 12 2 3
The distribution below shows the number of wickets taken by bowlers in one-day
cricket matches. Find the mean number of wickets by choosing a suitable method.

Number of wickets 20-60 | 60-100 [ 100-150 | 150-250| 250-350 350450

Number of bowlers 7 5 16 12 2 3
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